| Efficiency vs Dxy |

> 0.1
Pad
i®)
.09
>
3.08
D
D.07
©
0.06
0.05
0.04
0.03
0.02
0.01

o+

Rati

&

0.95

S ET50-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_mkFit_baseline

[ Efficiency vs Dz | |—s— DQM_mkFit_baselinesiter

~N 0.1
©
9.09
Py
Hos
(&)
.07
()
0.06
0.05
0.04
0.03
0.02
0.01]

L . *
[ R Y EETTFRTPRRPPRP S S EEETT R P EEP PR
- N 4 H
- . ] .
L . H
L . -
L [ W .
- . I
LR R e B R P R
» N H =
E ¥ : :
N Fy .
11 1 | 11 1 1 11 1 1 11 1 1 11 1 1 11 1 |

30 20 -10 0 10 20 30

TP dz (cm)

—— DQM_mkFit_TT_RetrainV2_WP2_6iter_ep3



	Contents
	Page 1


